(ooposras kapma nodomomseb ANT 80,90 2x3 3x3 3x4, x5 x6

LReyU@UKALLS F/EMEHITION
Haumerobarue LOODOYHbIE EOUHLLIE
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X4 7 7 7
x5 7 7 7
X6 7 7 4
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[lodcmonse 2x2 + 1 cexkyug nodomonsbg Ix2 + 2 cexkyuy nodomoiba X3 = [lodomoibe Ixt

[lodcmonke 2x2 + 1 cexkyug nodomoned 2 = [lodomoike 2x3 T
[lodcmonbe 2x2 + 1 cexkyusg noacmosibs 7)6 + 1 CekyUS noaomoiba I3 = llodomonbe 3x3
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\/70&’[/770/755 2x2 + 1 cekyug nodomonbg x2 + 3 cexkyuy nodomoisd 3 = [lodomonse 3)(5)

\/705[/770/75@ 2x2 + 1 cexyug nodomonka 2 + 4 cekyuy nodomonkg 3 = flodomonbe 3x6 j




